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Horizontal and Vertical Translations

Translations

'IL rans W‘—‘ oA alters a graph by altering its DOS ’_l_’ o

<hape  andior_orientation

A7L}’ 4ans / @75’;,“‘@ a type of transformation that alters th@f a graph.

The shape and orientation do not change.
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We can express this translation in
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Graph the image of the figure using the transformation

Charges



) ﬁrﬂ/DA - h iVY\Aﬂe é) Wr(‘L( o I’V\&\7)Pihj

> X1 X
translation: @ and 1 unit up
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Graph the image of the figure using the transformation given.

translation: (x, y) — (x @ gpid)
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Describe a rule for the following translation using mapping notation.
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Vertical Shifts (Translations)

Graph the function Y = xé@ y = 4 n the same graph
Iz Y’

What do you notlce'? X
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What do you notice? y

Graph the functiony = |x| + 2 pn the same graph.
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In general ¥ 7k = f(X) ory Z@Jr k represents a vertical translation of

the graph of the function ¥ = f(X). lfk>0 , then the graph is translated _
ver‘(’((( (

kunits up. If k < 0 , then the graph is translated |k| units down. d Lranslidim
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Horizontal Shifts (Translations) Im,,lg,/,{ ) 44 L-

Graph the functlon y =x{y = (?C = 3)2 @n the same graph.
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Graph the function ¥ = [x|y =[x+ 1| | ¥ = |x — 2Z|on the same graph.

What do you notice?
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In general ¥ = f(x — h) represents a horizontal translation of the graph of
the function Y = f(X) . Ifh >0 |, then the graph is translated h units to
the right. If h < 0, then the graph is translated || units to the left.
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Given the graph of ¥ = £ (%) sketch the graph of the transformed function
y=fx-2)+1  vectinl—> np i
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